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WEST BENGAL STATE UNIVERSITY
B.A./B.Sc. Honours Part-I1I Examination, 2019

EcONOMICS
PAPER-ECOA-V (A+B)
Time Allotted: 4 Hours ; Full Marks: 100
The figures in the margin indicate full marks. ENfEF TN TG RYNT fIN g Fe71
Candidates should answer in their own words AT e SIIF JoU TG SN T
and adhere to the word limit as practicable. o7 FRA!

Use separate answer books for each Group.

&ffSfs et =y 9uF Ceaela JzF Fa@h

GROUP-A
Rent-=

1. Answer any fwe questions from the following: _ 3x2=6

fasfeRe @-lt 76 ave e wes

(a) What are the causes of trade between two countries?
TfS reeia ey s R i iy oo o 2

(b) What will be the shape of offer curve for a small country and why?
I G (0 e BRI SIS (P9 T8 (PA T ?

\A€)' What is meant by J-curve phenomenon? '

J -4t w641 3o ¥ QI 2

\,@) State Marshall-Lerner condition for successful devaluation of currency of any
country.

RN (RO G T SREEUIRICT Ceq fier-anredia =ef R ¢

(e) What is infant industry argument of tariff protection?

g FEweR ww e IR & o
2 Answer any one question from the following: ' 9x1 =9
TSRS -t @1 elves Tea we:
\//@ State and prove Stolper-Samuelson Theorem.
- IPIEEPCR eSS e et Tt |

(b) Explain the ‘Swan’ diagram in the context of internal and external balance.

el @ R AT cerwisits, ‘G Baf gt we
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(¢) Can you think of a situation where demand conditions cause trade patterns that
violate Heckscher-Ohlin theorem?

G G0 S I IR A SRR SR @Hiz-eferm St o1 wad i
FAEN

3 Answer any three questions from the following:
efERe Q- foafs etaa Tea wies
(i) State and explain the basic assumptions of Heckscher-Ohlin theorem.
’ R~ Gl Orga Yol e PR SoiEe s

.-(if) Establish the Heckscher-Ohlin theory of trade in terms of physical definition
of factor abundance.

| Teiwmefer SRR @llprlT e AR e ey @R-ef v
G A - _
/--(iii) In what respéct does Heckscher-Ohlin theory present an advancement over
- Ricardiantheory of trade?
(RIR-efF ol FRITeia O worH! Tegs & ¢
(b) (i) Define and derive Trade Indifference Curve.
ey AR i TRt wie 6 ERifb i st

/(_ii) Extend Ricardian Comparative Advantage Model of Trade in a 2-country
' n-comgnodity framework. =

Rz gemisEe Iaogh 4t (7 8 #-TRAT TR CFLE TePiRe I
\(})_/(i‘) Describe the possible effects of devaluation on domestic country.
T R R ok IR SRR eeReR 99 |

- (i) Evaluate the elasticities and absorption approaches to counter primary and
secondary effects of devaluation.

SRIEIGR 2T 8 SRSt eeref fama Fifefier orty ffgviver oy
© iRt O 7fb9 Euiae e

(d) (i) What causes exchange rate to change?
Rt 27 AR e B & 2

(i) How equilibrium Exchange Rate is determined in Foreign Exchange
Market? What may be the effects of a rise in autonomous imports on
equilibrium exchange rate?

R R e ey Rt 2R e iR 23 ¢ wge wmife 3w
i SRETy R 2w Rren eeiiRe o g
(iii) What is meant by Forward Market and Forward premium?
R AR PTRRIG ez @ T R 7o R @i 2
M) Define “effective rate of protection”.
TR SIEHA 2 I A 2

(ii) “For every quota, there is an equivalent import tax”: Explain with proper
illustration.

“efSlh PR AT B TSR ool SwAeE AW Teige fran MW
Efefba e Rt
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GROUP-B
fRetl-¢

4. Answer any three questions from the following: 4x3 =12
At -l foafe evez Sea wes

(a) What is meant by merit goods? Do you think such goods should be provided by
the government?

IR0 T e T0e 2 Q¥ 6 N0 LAt G NS GO (GG IR T T 9
(b) What is meant by market failure?
ez IR et IS B @Iy 9
A¢) Explain the concept of “Laffer Curve’.
‘Laffer’ G it et st
_d) Distinguish between spite effect and purchase effect.
ARD GTFF R AR GTFS” @7 T A A e
LA€) What is meant by double taxation of saving?
FETR T T4 I AN IS R I 9

5. Answer any #wo questions from the following: 14x2 =28
AR @-@Et 4 evia Teg wes
Is there any difference between the burden of an internal debt and that of an 6+8

external debt? Explain the Ricardian view of government debt with arguments.
SIETE @ AR W @RI T T It Ny g 7 TR Al e Rt
VOIS &7 S FEMN

Jb) Why does the Pareto optimality condition differ in the presence of public goods? - 6+8
How do you derive an optimum solution for the allocation of resources between
private goods and public goods?

TR TR TARRTS Pareto 1 ORER #0967 ~ARIET W @ 9 @RI € IR
G5 et S iy Beoliww 3% Sy STt R owiers e 3969 9

(c) “The equal sacrifice principle implies progressive taxation”. Do you agree with 14
this view? Give reasons for your answer.

“Hai et NS asfeNer wwn ot 317 ot & @R 1f5a sem 93w ¢ o
Tarz i Y wie)

(d) Write short notes on the following: I
eva Renefem Soiz ke B oo
(i) Taxation on capital gain
TR e I
(if) The free rider problem and government intervention.

Rt ©iwz I8 TP € IR LT |

) ¢
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WEST BENGAL STATE UNIVERSITY
B.A./B.Sc. Honours Part-III Examination, 2019

EcoNOMICS

PAPER-EC OA-VI

Time Allotted: 4 Hours . Full Marks: 100
The figures in the margin indicate full marks. i1fSF TN TIE RING Q"ﬁ?ﬁ' fact a1
Candidates should answer in their own words AT [ ST TR FET ST
and adhere to the word limit as practicable. : Cez PRI '
GROUP-A
fast-
Answer any six questions from the following (within 150 words each) 4x6 =24

RS @-CeieT 2afs eicta Bed wie (2fef seo @ W)
1._fa) Discuss in short the impact of Green Revolution in Indian Agriculture.
SRS FRS IS R A KA S Sl
VCb) Mention the objectives of land reforms in India.
SIS G HFHEA Srweerafer Brad el
(c) Write a short note on Indian Capital Market.
SRS e e e 9t (=6 B Eredl)
/Qd) Explain the concept of inclusive growth.
e g 4=l e g
(e) Mention the problems of Small and Medium Industries in India.
©iare Y ¢ IR s el Srad st
(f) Write a brief note on the problem of black money in India.
ST FIC BIPR ET A G (6 IR Bl el
Ag) Mention the features of present Industrial policy.
o Frmafes aEref Sra s
\ Xﬁ) Write a short note on GST.
#{ely AR P TIea G0 (T Bl el
(i) Discuss in brief the problems of female labour in India.
OIS i AfRReC T R0 TR0 Seeiroa et

X j(j) Write a note on the occupational pattern in India.
ORITSA (2151 IR Toica {6 Bivt ey
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GROUP-B
faer-2
Answer any fwo questions from the following 8x2 =16

fefRe @-cieat 516 v T wis

e i Discuss the problems of 'agricultural credit in India.
SIS P CHa A TR SHCAD IR |

3. Discuss the impact of economic reforms on poverty in India.
SIS Wit SR ST MBI 2SI WAl

4. Discuss the recent changes in Industrial policy in India.
wiaced Femifors Ao s siEbH F)
5. Discuss the recent ‘Balance of payment position in India’.

SIA0ST TG T SR8 SE A SErs FCEh)

GROUP-C
faetel-a
Answer any four questions from the following 15%4 = 60
sl -l sl eivsa Teq wis

6. Discuss the major changes in the characteristics of India’s Foreign Trade in recent
decades. X

reifes mrafice Srred tarie iftcera (R eutw sifdasqafe sicasa s

\/7./ Discuss in detail the current monetary policy of the RBI.
SiaeR Fes Jivea 38T i AT wezs=t =@t

\48‘ Write a critical note on the Tax reforms in recent time.

IS A T WHA A 9o FcAmarE it el

9. Write a Comparative note on the roles of the Planning Commission and the NITI
AAYOG.

“ffagat s g3 NS e it [aw o gemngEms Siet e

10.  Make an appraisal of India’s Financial Sector reforms in the recent decades.

Hr2ifos wirefie Srarea e CRraa MBI F0E S

c/11.  Discuss in detail the problem of unemployment in India.
SIS (@I A AREIC S Fe

> e

3041 2
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ECONOMICS
PAPER-ECOA-VII
Time Allotted: 4 Hours Full Marks: 100
The figures in the margin indicate full marks. e T RoE RIS Wﬁ(‘ﬁ? el
Candidates should answer in their own words AT [T G IR TG TN T
and adhere to the word limit as practicable. Bew FRE1

Al symbols are of usual significance.
Use separate answer book for each group.
ST Rt o= 437 Teaeta 327 541
GROUP-A
Rett-=
1. Answer any three questions from the following: 4x3 =12

e @-@at foafp avid Tex nes

(a) If two events 4 and B are independent, then show that 4° and B° are also
independent.

Tt 4 € B S HIFF BN, SEE@NE @ 4° 8 B° Yo FAF HBA LA

(b) Define ‘probability distribution function’ of a random variable. How to
calculate it from pmf? '

TG R S FE A 9 AR ©F SAFS (pmf) (A 27 e fdfy
A ? _

(c) Cite two situations where Poisson distribution would be the appropriate
theoretical distribution.

ﬁﬁﬁﬁﬁdmﬂ#wmﬁmwmﬁm@wws

(d) Distinguish between (i) a population and a sample. (ii) a random and a non-
random sample.

NLET TR (i) TN € T (i) SPTS A @-Wml
(e) Explain the notions of unbiasedness and consistency of an estimator.
<G @[ FEFA unbiasedness '€ consistency-Aa el 46 N FC 1

2 Answer any one question from the following: 8x1 =
fsfeiRe @@ @ l6 it Ted ares

(a) x, y and z are three random variables so that x and y are independent and z = xy, 8

x can take two values 10 and 20, and the probability that x = 10 is %, y can

take three values : 5, 6 and 7. The probability that y=>5 is % ghiil. 3 1B %

Find the expectation of z. 3 Q G\.‘ %) o® 9]
0) YL
e 1 Q LP\N ‘% - PP )/' ) (F@;)T;;T{;gﬁ{)
v o) (o 69
& . y T»- “P L twj I{]L‘U N ?L(p
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x, y '8 z @¥ ToHG PTEI o A x @ y IWT IR z=xp | x A AT O
S 10 6 20, IR x GF N 10 ZHH TGRS %wmmmms,swwy

UER O SNWW% IR 6 93 ASRTSf -;-I z @ expectation T I

out mean and variance of Binomial distribution.

e} Teoflnd SOoiws [ 9 B AT 2T I ol s eopiit @ (owsia
R st |

y Define moment generating function? Using moment generating function find 345

3 Answer any fwe questions from the following: 15x2=30
fAfeRe @-@ien 4f6 et Te wies
(1) Set up a sample space for the single toss of a pair of fair dice. 3+3H4+1)+4
OF (! BRI 9T BIEAIR T 08 sample space b (re |

\/(la From the sample space determine the probability that the sum of points is
either 7or 11.

~ Sample space 0 e caorereT 7 3t 11 Rea soRa! (g
(/(d/ii) Prove that, P(4© B)=P(4)+ P(B)- P(AN B), where A & B are two
events. When is P(4NB)=07
Y 9 P(AU B) = P(A)+ P(B)—-P(ANB) @R, A 8B b 964l
FT P(ANB)=0 T ?

) The joint probability distribution of two variables X and Y is given
= below—

{6 bR N0 RIS HSIFA! 2j@ S (6T TR —

Y
<N\ o1
o {11
8 |8
R R
8 | 8

Evaluate the marginal distribution of X and conditional distribution of ¥, given
X=1.

X-a3 ST e @3 Y-a3 =% Aieerss e A s

3042 2
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(b) (i) Write down the p.m.f of a Poisson variable with coefficient of variation 3+4+2+(2x3)

(ii)
(iii)

(iv)

(©)

3042

(i)

‘/Jﬂ‘i)

2%.
T AT HLoR T ©F SCAFHO RN VR (ST 2%.
Obtain the moment generating function of the Poisson distribution.

Show that a standard normal variable has the mean zero and standard
deviation unity.

AN (F G IR T HLE NG X AR P A G|

The height distribution of adult males of a certain race has mean 165 cm
and standard deviation 6 cm. Find the probability for an adult male to
have height below 158 cm, above 175 c¢cm, and between 150 cm and 180

cm.
[given ¢(1.167) = 0.8784, ¢(1.667) = 0.9522 , ¢(2.5)=0.99379 ]

2iie 3% JTerm Tvor Rt av 77 919 165 G, @3 7198 214 6 Gl
158 GifSl-9q 3% Tl 79w, 175 G @3 N Tbot ooty R 150 GifY @
180 Gf¥ 7 Wy Tt 3oy iz Asiret fefy

[ReASNR §(1.167)=0.8784, ¢(1.667) =0.9522, ¢(2.5)=0.99379 ]

A random sample of size 25 is taken from a N(u, 0'2) with g =30 and 5+4+6

o? =16. Would the probability that the sample mean lie between 25 and
35 be greater than 0.99?

N(u, %) @@ @68 @36 TIHGT T OGd |Gt 25, @A =30

GR o7 =16 | FYA MG AT 25 UCF 35 G N 28T ASRP! F 0.99-97
(Sl ETaSRa (K

If x;,x,...,x, is a random sample from normal population N(x, c*),
how are the foilowing distributed?

Z(x _X) s/\/_ where s ~§:(x x)

R X, % .00, X, G0 I AT N(p, o) @@ @S G0 FIHSI 7Ll
#eg 2, oid Ralefieef e Raw @ ¢

=% o F-4 (%)

¥ S Tl £

A population consists of five numbers 2, 3, 6, 8, 11. Consider all possible
samples of size two which can be drawn with replacement from this

population. Find the standard error of sample mean. at
a3 *ffv-ass T smatea MMef 221 2, 3, 6, 8, 111 92 AT QI 4o
wiw RiE ey el (s wemt 72) Rewat 3@ GusE T Sied e Qﬂ%
aife Fdfr Q:
po AV |
AN
% b @M

\
ﬁ@»ﬂ“

Tum Over
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(d) (i) Illustrate the notion of Maximum Likelihood estimator.
SIf&S SRR eliwFers (MLE) 3 4Rl g4t 3

(i) Let x, x5, x; be a random sample of size 3 drawn from a population
with mean z and variance 0.

T, and T, are estimators to estimate u, where, 7, =x,+x, —x; and
T, =2x, — 4x, +3x;. Which one is the best estimator?

X, Xy, X3 9% 3 G333 RFE STE TR «Fl e QR @ent TF 119 oY
@ (SR IS 4 8 02 | y YD ARMATTAL 8 7T,

@A T=x+x,—x; GR T, =2x —4x, +3x;| @ T WAiePE
o{feisie P 2

(iii) Briefly explain the difference between ‘Point Estimation’ and ‘interval
estimation’?
‘Point Estimation’ '8 ‘interval estimation’-q9 Nt4j 2y St
(iv) Distinguish between ‘Null Hypothesis’ and ‘Alternative Hypothesis’.
‘Null Hypothesis’ € ‘Alternative Hypothesis® @3 St47 #A125] a1

GROUP-B
o2

4. Answer any three questions from the following:

ffeie @il oAl evsm Tea wies

(@) The demand function of a commodity is given by P=8-x>. Find the
consumer’s surplus if the commodity in question is a free good.

G2 *el SRl W M P=8—x° 7@ @Rk IW A Ry «o7 =, v
et By A It

Derive the fundamental differential equation of the Solow growth model,
clearly state the assumptions.

Solow - Y et a1 fwricafrae wliwae fidk s

‘\)V/Given the continuous income stream at a constant rate of Rs. 1000/- per year,
what will be the present value of profit if the income stream lasts for 2 years
and the continuous discount rate is 0.05 per year.

I AR 0.05 Bt 2 AT 9 I 2@ ASRF 1000 BRA 2@ Tt @ 2

IR B AR LRI TN S 9 9

(d) What do you mean by Nash Equilibrium in game theory? What is the biased
game?
O OTg T (Nash) ©EPIY w00 & @I 9 GFACT A biased game o &
(I CH [ -t

3042 4
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Check whether the following input-output matrix satisfies the Hawkins-
Simon’s condition.

ﬁﬁ@iﬁﬁwmﬁﬁmamxmﬁﬁwmwwﬁﬂﬂﬂﬁﬁﬁmﬁﬂf

e I
0.1 025 04
A=|0.1 05 09
02 04 O

(f) Distinguish between feasible solution and basic feasible solution in a linear
programming problem.

R ] « R s © @R e i sy =g fRemet s

D Answer any one question from the following:
fAefRe @-colT @ i5 etiw Teawies
"'@In the multiplier-accelerator model of Samuelson it is given that C, =0.8 y, ,,
I, =0.2(y,_, — ¥,_,) - Show that the time path of income in this case will be

converging.

FREEPIR @ G o et wwR C, =0.8 y,, [, =020y, —V2)»

e (I FIT-Aee 2fS WA (converging) A

(b) Let the demand and supply be Q, =9—p+p'+3p", Oy =~1+4p—p'+5p"
with p(0)=4and p'(0)=4. Find out the time path of price assuming market
clearance at every point of time. Discuss the nature of the time path.
% HifEwl € s TAF O, =9~ p+p'+3p" GR Qg =—1+dp-p'+5p" &
@R @A p(0)=4 € p'(0)=4 T &R &S TS AT FAF YT WCH TR
o1 el a1 w7 1257 epfe g

6. Answer any fwe questions from the following:
e Q- 7o deis Teames
4) (i) Derive the consumption possibility locus under the Leontief’s two industry
input-output static open model.

Fenbrr v2-fe REE B 25-u1T6 Woeer SR (oi-H8rRy @R

Fda s
Aii) In the two industry static input-output model we have the followmg
information:
Z 1 [09 0.4] R
A=A)" = T 1:0.3 0.8) where a5, =0.2, ap, =03 and x, =10
w2 fire RFHE Rl 3e{5-5+ Nrweibre frsfie wey crem st
Q=)= T ek @A a,, =02, @, =03 4R x, =10
0.84 03 08, = R S S
H - ARFP Yot~
py- B* % D e
3042 Sk 2l ol oo
#) O

8x]1 =38

642 % -

15x2 =30

8+7

4,»61 oy “(Q*LKL‘L!;"O
ot

o [T

=)

-y ()

Turn Over
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Find the equation of the consumption possibility locus and interpret the slope
of the curve.

ToifdS@ W (A& consumption possibility EAR-3 e A awat € afda
BIF AT SIS S|

M Set up a 2-person zero-sum game of your choice where each player has
three pure strategies. Derive a pure strategy solution and justify the choice
of equilibrium strategies from player’s point of view.

e Agwwe @3l 13-, W ctwa [FHE G MW FE AA© e
QREEARIG? foqlt 37 e e A onfdr @3l Rew (Frege-erg
Ay st e curemmerE wRE@E (i @ @l s widet afseive
Tt

(i) Why is a Constant Sum Game is a Zero-Sum-Game?
@0 P I (31 @ 7 Q9T (1S 06 9

V(Hﬁ Show that (%,-;—] is the unique mixed strategy adopted by both the
players at equilibrium in the following 2-person zero sum game

1 -1
[ |1 ] . Find the value of the game.

mmﬁaﬁ%ﬁ-ﬁ,wwﬁﬁ%mﬁw(

11
- Ten
2,2Jm‘i

CATANG %l 531 Gt kel e A0S STy HE 2, [-}1 _ll]t

(c) Suppose in the Linear Programming Problem (LPP), w and r represent factor
prices.

Minimise C=12w+42r
Subjectto w+2r23-
w+4rz4

3w+rz3 .t
w,r20

(1) Find the dual to the above LPP.

(i) Identify one basic feasible Solution.

(iii) Interpret the dual problem and its solution economically.

3042 6
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]
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5
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[

4+5+6



B.A./B.Sc./Part-11I/Hons./ECOA-VII/2019

=R weitaRe cieifir el Rese @ @ w ok » Sotmiem i,
Minimise C =12w+42r 5239,
Subjectto w+2rz3
w+4r24
3w+rz23
w,rz20
(%) Toiez 3o i e (dual) 107 ST
(3 @b e REFRE e fofRe v
(®) 7 T @ SR FepH AT S T IR |

(d) Consider a duopoly market for a homogeneous product with following market 10+5
demand and cost functions: P=100-2(q, +g,); C,=12¢;; C, = 0.54.3122

(i) Determine the equilibrium price and output if producer 1 is the leader and
producer 2 is the follower. Find also the levels of profit of both the
oligopolists.

(i) Show that if it is left to each producer to determine whether he wishes to
be a follower or a leader, equilibrium will be indeterminate.

VA T AT G0 GO TR IAGNT GI6 TiwE WicR| Bkt 8 I
SR el Ze fEEes

P=100-2(q; +4,) 9% C,=12¢;; C, =0.543

(%) Teoitn 1 I IR (99 @77 @R Teotln 2 I O PR 27,
OIZE O WY e Testi el [ g o Rdw swan Tew
wfereatisifer sreia sifamias e st

() ot @, m@awaﬁﬁmiﬂwmﬁwmmmwﬁ
2eq fiate s 7N, oIz e i 2@

X

3042 7
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WEST BENGAL STATE UNIVERSITY
B.A./B.Sc. Honours Part-111 Examination, 2019

EcoNoMICS

PAPER-ECOA-VIII

Time Allotted: 1 Hours Full Marks: 25
The figures in the margin indicate full marks. 2ifers AT TE T 7‘7537’5:" fair @41
Candidates should answer in their own words G (ST G TR TG TN T
and adhere to the word limit as practicable. G T
GROUP-A
retel-=
I Answer any ene question from the following: 151 =15
fsferfie @-iet @ f5 2teq Teg nes
‘ﬁ) Do you think that the ‘New Guarantee System’ was better than the 15

‘Old Guarantee System’ in the history of railways in India?
ofil o e a1l @ oRe @ErRl Reeda Eeen god At g sjare sniits
N S T feT 9
(b) Critically explain the theory of ‘Economic Drain’ in British India. 10+5
Discuss the impact of drain on the Indian Economy.
& wiars “sitafoss e wgiba FIEs-i-367 a1 St
wror weAifoq Bor «a werret bl Sl

2 Write short notes on any fwe of the following:

fsfeiie @-ciea 76 e T sk fFERe Sl s
(a) Decline of Indian handicrafts
SIS 2B S
(b) Policy of Discriminating Protection
farewsere sk Jife
&) Irrigation system under British India

) Objectives and features of Permanent Settlement in British India.

o1 Srare Bzl arwias G Srae @ (A€ |

Lh
*
88
Il
(=]

x
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